
s i n  a sin b sin c
sin A sin B sin c
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4.3.1) ngaes%~YwkhGu61u  ncha-h:

bwwwiuub%swasnau  ABC am  “1  a-,S@d7

(1) cosa  = cos b cos c + sin b sin c cos A

(2) cos b = cos c cos a + sin c sin a cos B

(3) cos c = cos a cos b + sin a sin b cos C

4 .3 .2 )  ~QV&&hfdar'lM~¶J~~

lt4muavi&u~5swasnau  ABC am  “)  ,,k%,

(I) cosA  = - cos B cos C + sin B sin C cos a

(2) cosB = - cos C cos A + sin C sin A cos b

(3) cost  = - cos A cos B + sin A sin B cos c

4 . 4  fqXlLk4Pd

sl
a&JaJLSsnasflaaJl~ q S&isQ

(1) sin aces  B  = cos b sin c - sin b cos c cos A

( 2 )  s i n  acosC  = cos c sin b - sin c cos b cos A

( 3 )  s i n  bcosC  = cos c sin a - sin c cos a cos B

(4) sin b cos A = cos a sin c - sin a cos c cos B

(5) sin c cos A = cos a sin b - sin a cos b cos C

(6) sinccosB  = cos b sin a - sin b cos a cos C

,
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1
tan2A  =

r
sin(s  - a )

tan:8  =
r

sin(s  - b)

tan&  =
r

\ sin(s  -c)

a + b + cs =
2

(1)

(2)

cot!,  =
R

2 cos(S  - A)

1
cor2b  =

R
cos(S  ~ B)

(3) co,  r, zz R
2 cos(S  - C)

ah s =
A + B + C

2

co@  - A) cos(S  - B) cos(S  - (5
LLnt R =

-cos  s

(1)

sin$(A-B) sini(a-b)
-__  rz

cos ;c
1

sin-c
2
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(2)

sinf(A+B) cos i (a -. b)
=

1
c o s - c 1

2
COS-C

2
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